Thomas the Tank Engine
Thomas the Tank Engine pulls carriages for a living.  He is always smiling because he loves his job and, well, pulling carriages is what trains do best.  However, Thomas needs to pay the Fat Controller some rent and so he charges people $50 surcharge plus $60 per carriage.   Copy and complete the table for Thomas’s carriage rates below:

	# Carriages (x)
	0
	1
	2
	3
	4

	Cost (y)
	
	
	
	
	


Now plot this information on a graph:


	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


  


1) What is the equation of the line?

2) What does the y-intercept represent?

3) What does the gradient represent?

4) Use the graph to estimate how much Thomas will earn for pulling 8 carriages
5) If Thomas pulls 6 carriages a day, 5 days a week, calculate how much he earns in 1 week
One day the Fat Controller told Thomas he didn’t need to pay rent anymore due.  So Thomas decided to scrap the $50 surcharge but raise the cost per carriage to $80.  

6) Copy and complete the table for Thomas’s new carriage rates
	# Carriages (x)
	0
	1
	2
	3
	4

	Cost (y)
	
	
	
	
	


7) Plot this information on the graph

8) What is the equation of the new line?

9) What is the y-intercept?

10) What is the gradient?

11) Use the graph to find how much Thomas will now earn for pulling 8 carriages
12) If Thomas pulls 5 carriages, does he earn more now than before?
13) How many carriages does Thomas have to pull before he is earning more than before?
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